Perdition
4 =150
vers 142 |4 B/E/G E4/gée B/prct | E4/H/CE Bp/G/E |
| CémyctD/E CHm4/GHFt Chmyct/Ft | CEm4/E Chmyrt/E/CH|
| F#/A% Fh200/CH/at FoatGE | FEm2¢D/F# FémGt/F¥ Fém/GHa |
| H Hada4™ H | Hadd4“9/A H/A Hadds"/A’l
omkv. | AlCHm/GH A/F#| FémyErtGt/amict | D | Fém/C# | D/H I D/E|
verstema | E/E/G E4/G4E E/p/ct | E4/H/C# ED/G/E |
| CémyctD/E CHm4/GHFt Chmyct/Ft | CEm4/E Chmyrt/E/CH|
| F#/A% Fh200/CH/at FoatGE | FEm20D/F# FémGt/F¥ Fém/GHa |
| H Hada4™ H | Hadd4™/A H/A Hadd4“ /A |
vers 3+4  IFE/E/G E4/G#/E E/p/ct | E4/H/C# E/D/G/E |
| CémyctD/E CHm4/GHFt Chmyct/Ft | CEm4/E Chmyrt/E/CH|
| F#/A% Fh200/CH/at FoatGt | FEm2¢D/F# FémGt/F¥ Fém/GHa |
| H Hadd4® H | Hadd4"9/A H/A Hada4“/Al
omkv. | AlCH/GH A/F#| FmvErtGt/amict | D | Fém/C# | D/H I D/E|
grsolo | AlCH/GH A/FE Fém/Ertctamict | DI Fém/C# [ D/H I D/E]
vers 5+6  IFE/E/G B4/Gt/E E/pict | E4/H/C¥ E/n/G/E |
| Cémyct/D/E C#m4/GEFt Chvaert | C3m4a/E Chmyrt/E/CH
| F#/A% Fh200/CHiat FéatGt | FEm2@D/F# FémGt/F¥ Fém/GHa |
| H Hadd4® H | Hadd4"9/A H/A Hada4“/Al
omkv.x2 A Cém/GH | A/FE| Fém/Ert/ct/amict | D | Fémy/C# | D/H | D/EA
verstema | E/E/G E4/G4E E/mict | E4/H/C# ED/G/E
| Cémyct/D/E C#m4/GEFt Chvaert | C3m4a/E Chmyrt/E/CH |
| F#/A% Fh200/CHiat FéatGt | FEm2@D/F# FémGt/F¥ Fém/GHa |
| H Hada4™ H | Hadd4™/A H/A Hadda“ /A |
slut |E6lE6
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